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Overview

W P w1 maintains that just as by 1w17°3 the 1327 maintain that either the 770787 771
of her father can receive her v3, the same applies by 7v17p that a 707X 77Y1 can
be 2apn the PR (while 337 ' maintains that by 1w R all agree that only the
father can accept Pw17°p. The X3 relates that "9 was shouting in the w717 n°2, that
it says! 7n°m XYM so the same rule that applies by (7w173) ax¥™, should apply by
(Pwr7R) anom. Our mvon qualifies the argument of wWopH woA.

mooIn anticipates a difficulty:
- INONYY NNN WIPN ND YIPY YT 129N T 2) DY 4N

And even though that even %' does not compare (1R17°p) 57937 to (PR17°3) IR

in all instances; Moon offers an example -
= VN MIYY NYT N W ON 219297 NNSY »T5 HY N NYINN XX NIV Y9NV

For by a ;mup, she can be divorced even by herself (accepting the vx) according

to the 3129, provided she has the mindset to guard her 3 -
= AKY 21 DY NVIPNN NIN)

But nevertheless she cannot be nw7pn» though herself by accepting the Pw17°p. We see
that we do not always utilize the wp>n of 70> ARX™, so why does 7" insist that here (regarding a
77v1 accepting 1Pw17°R) we should utilize the wpei of Anm ARe™"?!

mooIn responds:
- AN DNY PYYNI Y99IY NN Y53 BINYAY 1Y WS DY) Yan

Nonetheless we should equate 2177 and 7P217°P as much as we can because of

the language N5 IRX, which indicates that they are similar -
= 309992 PWIIID PYITIP 192 PHNY 19T PN 1D ON

Therefore we should not differentiate between 12752 and 1°217% by a 5791, and just
as by 7w a 17v1 may accept her va, the same should be by w17 that the 77v1 may accept it -

mooIn distinguishes between the cases of a wp (where we do not utilize the wpi1 of 70 ARY™M),

13,73 (x¥n) 027, regarding a divorced woman, reads; IR WX A0’ 7277 i02n A8y, The word AR refers to P,
while nn°m refers to w17p. We derive various laws by 121721 1172 from each other through the wp*ri of fn»m nRe».
2 This follows the view of '010 on 110 7"7 2,3n. See ‘Thinking it over’.

3 The issue whether a 771 can or cannot be %2pn her 1W17°p or P13 is not whether she has a 7° (the capacity) the be
©apn, for she certainly has since she is a 77173, the issue is (as 377 " states) that 7783 11911 2°7° *nw PR. However, since
the onan argue and maintain by w13 that the 7991 can be 22pn her vi (they reject the argument of 121 7> nw PR),
the same rule should apply by 1w 7°p. By a mivp however there is the issue that she has no 7> as n190I1n continues.
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and a 771 (where "1 maintains we should utilize 70> IR%™M):
= 4PWrTP HaPY 1 NY PRY DIV 13950 NIVP 23X PPINNT 9123 2N%

For granted indeed that we differentiate by a mwp between 7w17°p (which she
cannot accept) and 7w’ (which she can accept), for that is because she has no
‘hand’ to accept PRNTP -

$NINYIY 6993 595 1Y Y NV Yapy Yax
But she has a ‘hand’ to accept her 3, since she is married already. However a 72

(who is a 77173) should always have a 7°, whether it is Pw17% or PY17P, since we have the wpn of
AN ARYM,

Summary
("1 maintains that) we always utilize the wp>n of 7n°m IRYM, except by a 71vp since

factually she has no 7° to be Pw17P 22pn.

Thinking it over

nooIN assumes that a 710p can be Yapn her va.” Perhaps "1 maintains that a 710p
70NN cannot be 9apn her va (even according to the 1327), as °"w7 maintained
initially;® therefore there is no question at all?!”

4 Even if we utilize nn>m 1x¥™, the fact is that a 73up has no 7> (when it comes to 7217°p). We do not find anywhere
that the 7N gives her the capability be accept 1217p.

5> All agree that a DRWIW 710p or even if 70IXN3 but has no father, she can receive her v3 (see 2,77).

¢ The words nXwaw 1°3 present a difficulty, for we are discussing an 7019 here. See X"w17n who writes that nXW3 is
XPY7 2. See NI X"wann and others for various explanations of the words nXwaw 11°2.

7 See footnote # 2.

8 See X°17 71"7 2, "W and 'oin there 110 71,7.

® See mwn noma.
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